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JI 22 AbA 8,275,761 8,680,503 AA04, 742
= 55,846 55,846 0
£ 40,000 10,000 30,000
[ 518,972 68,972 450,000
= 7,660,943 8,545,685 884,742
HHSAAH| (I &2 AL (DIEH DIE}) 50,878 53,377 A2,499
Jl=AH| 31,138 33,637 A2,499
Jl=AH| 31,138 33,637 A2,499
201 LEt2 Y 16,738 19,237 A2,499
01 AFRZt2lH] 15,642 16,771 A1,129
OLer2 3| (M A=) 11,295 12,424 A1,129
0.AF2D10] & 2AEE 9,201,000& 9,201 10,330 ~1,129
02 222%H| 1,096 2,466 A 1,370
O2Z222Y MA(Ha=E2) 976 2,346 A1,370
0.2ERZ 976,000 976 2,346 A1,370
ANy SAzr A5 (LD BE/ABIEET) 99,766 97,850 1,916
C 10,000 10,000 0
= 89,766 87,850 1,916
ZEEEIE Y It 74,376 72,460 1,916
£ 10,000 10,000 0
= 64,376 62,460 1,916
ZEZEEDIEY HIDIsEs425 61,436 58,420 3,016
£ 10,000 10,000 0
= 51,436 48,420 3,016
201 LEt2AH| 37,236 32,220 5,016
£ 7,000 7,000 0
= 30,236 25,220 5,016
01 AFR2t2lH] 37,236 25,220 12,016
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£ 7,000 0 7,000
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£ 0 7,000 A7,000
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5,000,000 5,000 15,000 A 10,000
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201 LBt 3| 178,845 187,845 9,000
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= 56,667 56,667 0

= 666,117 681,979 A 15,862




R HPIEEIYN
B Y25 J|BEE(YUBTYY/

ool HEEA Hja (2o &2
SN-EHH S (3H) - HEAY - BES Off &k Bk Hnz2
HesH 29 540,215 549,044 £8,829

401 Al&HIL 20| 155,671 164,500 £8,829

01 Al&t| 154,486 163,315 18,829
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02 IT2YH| 62,869 77,869 15,000

ONEETESHIIRNE-ET 55,741 70,741 15,000

0.8t % EHOIX 10,000, 00024 10,000 24,000 14,000

0.5 A 5,600,000%! 5,600 6,600 A1,000

207 HRIHLHI 30,000 0 30,000

s 30,000 0 30,000

02 F AN Y] 30,000 0 30,000
OtEstgorzne 8 24 M (SYH)

30,000,000% 30,000 0 30,000

s 30,000 0 30,000

405 H&HESH 48,315 49,900 A1,585
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OUSB 2r2] oA TE (A=) 48,315 49,900 A1,585
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11,500,002 11,500 10,000 1,500
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